NOTA: Lea las instrucciones antes de comenzar su instalacion ontaje

Guia de Instalacion

Model No. NS-SOTV43

VESA PRECAUCION:
v 30KG NO EXCEDA DEL PESO
MAXIMO INDICADO.

www.nisuta.com | hola@nisuta.com | (O Soporte Técnico +54 9 11 6628-1252




(o (o

M4x14 (x4) M5x14 (x4) M6x14 (x4) M8x20 (x4)
M-A M-B M-C M-D

i)

M-G (x8)

W-A (x6) W-B (x6)




